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Note () Attempt all questions.
(if) This question paper contains 17 questions in all.
(ii7) From Question Nos. 9 to 17, optional questions are also included.
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Instruction : (A) Question No. 1 is an objective type question. It contains
three parts—Part (A), Part (B) and Part (C). There are
5 questions in each part and each question carries | fnarl::.
Part (A) is a multiple choice question. Only one option 1S
correct in each question. Write the correct answer.
In Part (B), blanks are to be filled with correct answer and
in Part (C) match the Column (A) and (B) is given. Symbols
given have usual meanings.
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@UT-( ) HE IW gAw faf@Ey : [1%5=5]

Part-(A) Choose and write the correct answer :

()

(i)

(i)

Wﬁmmaﬂwmﬂ,ﬁwaﬁmaoﬂ,waﬁwmmﬁﬁﬁm
e ® T Fae F el i 9 ¢ 1 7R B ¢

(37) i =459 e = 30° (F) i=230° e =45°

(F) i{ =459 e = 45° (%) i=30° e=30°

The angle of prism is 60°, angle of deviation is 30°, incident angle
is i and emergent angle is e. For angle of minimum deviation the
values of i and e will be :

(@) i=45° e=30° () i=30° e=45°

(c) i=45° e =450 (d) i=30°%e=30°

S YT Bdl % ST SAIUK 4:1 ¥ AR @ W sfiman
Td AqH ddiadieil F1 39| 941 g ?

(3D 9:1 (8) 3:1  cGBOARDOonline.com
(@) 25:9 (%) 16:25
The ratio of the dimensions of two light sources is 4:1. After the
interference what will be the ratio of maximum and minimum
intensities?

(@ 9:1 (b)) 3:1

() 259 (d) 16:25

qﬁWALlpwaﬁﬁgAaB%qmg@ RUIGIE o
T

(31) 1 pF () 3 uF
1 CGB(:‘!ARDﬂnline.cnm
(9) E’HF (%) %“F

The value of equivalent capacitance between points A and B of the

circuit Am—qwa will be :

1pF {1 1
(@) 1pF (b) 3 uF
1 . 3
(€) EPF (d) E].IF
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(v) P-YHR ¥ SEHEH F AgHER S AEF T ¥

(37) T () o=

(§) A W T (%) Wef

The majority charge carriers in P-type semiconductors are :
(a) electron (b) hole

(¢) electron and hole (d) proton

(v) T TEHR H qeried o R W e T CGBOARDounline.com
(3 103 m (7) Im

() 10710 m () 6x 107 m

The order of wavelength of visible rays is :

(@ 102 m (b)) 1m
() 1070 m (d) 6% 107 m
guz-(a) e =H # 9 RN [ 1x5=5)

Part-(B) Fill in the blanks :

() et & T ) foil % i gt fadmer SR we feo s faEe
¥ 9@ H1 3T O ¥ fAw _ wwd €

The ratio of angular colour dispersion to angle of deviation for the

mean colour i1s known as

(i) Toga-31T9eT 1 WL & wom Fem & SR Tl sosie W qa
T ud & HEn I vt F STHITHI B ¥
The mass of a substance liberated at any electrode according to

the Faraday’s first law of electrolysis is directly proportional to
in the solution. CGBOARDonline.com

(i) I=rh1d T TSI W #)

S.1. unit of magnetic flux is



[4] CGBOARDonline.com

7 doted @ wH A T

(iv) 3@ 9& o
In visible light wavelength of

colo

_ . HEd T
() e 3 i s fage a3 S A

ic current
In Lenard’s experiment the maximum value of photoelectric

is called ___
@z - (W) W S TR [1x5=3]
wHAH-(A) Hicw-(B)
() i ffa § gaEwy &1 ) dew are
(i) ¥9W Ei*(dfiif:)z
1 2pr

(i) faga ofe +1 S "+

dney (r2-1%)°

(v) @ AT T
(v) iy feafa A faga &3 =6t e TF Foedl

Part-(C) Match the column :

Column-(A) Column-(B)
() Intensity of magnetic field on watt
axial position
B arizat Wo 2md
(if) Polanzation 4ﬂ-(d2 —12)1
1 2pr

(iri) Electric power in S.I. unit 4me, -(rz _ %)

(iv) Self-induction Transverse wave

(v) Intensity of electric ficld on A coil
axial position
CGBOARDonline.com
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Instruction : (B)  Question Nos. 2 to 5 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit for
each answer is 30 words)

qF-2 G a9 Y@ TH-gE W e e ? 2]

Why magnetic lines of force do not intersect each other?

gve-3 O e F ¥ 2 o wfen wRERu [1+1=2)
What is Seebeck effect? Explain with diagram.

ygT-4 I RO R ? (2]

What is mutual induction?

WgA-5 ﬁﬂﬁiﬁaﬂaﬂ%ﬁﬁzmmﬁwmwﬁm: [1+1=2]

. Ae—T
CGBOARDonline.com :}—‘Y

Write the name of the following logic gate and make truth
table :

Ao—T
B-—-D—.Y CGBOARDonline.com

: T TS T W
. (@) WA FHE 6 ¥ 8 T oS T
e s s TR ¥ (v ww ¥ fag IW W SUET

wR-H 50 V= ¥) |
Instruction : (C) Question Nos. 6 to 8 are very short answer typedqlil‘esti:to?osl._
Each question carries 3 marks. (Maximum word lim

each answer is 50 words)

-6 OSDW-4D T A D SR TE-gE % umd § @ g ¥ 9w 9
# WHEA g IE@ HIfE)
Two lenses of power 8 D and —4 D are combined together. Calculate
the focal length of the combined lens.
CGBOARDonline.com

(3]
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Instruction : (D) Question Nos. 9

6]
CGBOARDonline.com | [3]

& sl &1 o g @\ B

Establish de Broglie wave equation.

A W &7 = TT four properties.
What are electromagnetic waves? Write any

) o wggad T ¥ | IAE T W
qﬁmw#mwﬁa{w

CGBOARDonline.com

(1+2=3]

: (2) 9 Haw 9 /I
4 atF ayefzd &1 (
weR-dm 75 9% €)

to 12 are short answer type questions.

. Each question carries 4 marks. (Maximum word limit for

each answer is 75 words)
ﬁgﬁﬁmﬁaﬂaﬂﬁﬁﬂﬁmvﬁﬁ%mm: [2+2=4]
() wfafem a1 9 Ewn & R 9y s
(i) mﬁm%@aﬁwmﬁuﬁfﬁamg&ﬁwqﬁ
W oA

Describe the compound microscope under the following points :
(i) Ray diagram of the formation of image

(i) Derivation of formula for magnifying power when image is formed

at least distance of distinct vision.

CGBOARDonline.com o
OR
wiftfa et %1 aof frifea e & oforia =ifeie . [2+2=4]

() Wiafda T @t FeEy w fFo 9y @

(i) STaHA wEa F I F v afs wiifEE we gfe s g gl
T CGBOARDonline.com

Describe the terrestrial telescope under the following points :

() Ray diagram of the formation of image

(i) Derivation of formula for magnifying power when the image is
formed at least distance of distinct vision
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m%ammﬁmﬁm%mmwmn 4}

Derive the expression for the fringe width in Young’s double slit
experiment.

¥va-10

CGBOARDonline.com 9
OR

mmmﬁaﬁ?ﬁwmaﬁiﬂaﬁ%mwmm
FIoQ | {4}
Obtain an expression for width of central maxima by diffraction of light

at a single slit.

yy-11 Wﬁﬁa@@mmm#mmummmmﬁ%ﬁm

1 FUiq e Wil & STReia i [1+2+1=4]
(i) ufay w1 @
(i) Tagm

(iif) waufEl (FE A)

Explain the experiment to determine the unknown resistance of a wire
using metre bridge under the following points :

() Circuit diagram
(i) Principle
(iff) Precautions (any two)

3erar
OR

P & fodl & omm W Feer g @ fagih auEmEe) [4]
Derive the principle of Wheatstone bridge by Kirchhoff’s law.

W12 FER @ R wed €2 39 qe m S geER) [1+3=4]
What is communication system? Describe its main parts.
37erqr CGBOARDonline.com
OR
HIgTH M 2 THE IR 6 W it (1+3=4]

What is modulation? Describe its types.



[8] CGBOARDonline.com

firdor :(3)mm13ﬂ1swa§ﬁﬂam%|mmm
5 3% aEfed &) (ww WY & fau W W Afusam
W=~ 150 W ®)

Instruction : (E) Question l\_Jos. 13 }o 15 are short answer type qu.esflons.
Each question carries 5 marks. (Maximum word limit for
each answer is 150 words)

CGBOARDonline.com

TA-13  Qer T R gag e A A S gl & s S @l
qo & Y fafy @ 9ol Freifea figsl w Hife [2+2+1=5]
() T H I
(i) o Qrei
(iif) T
From separate magnet method of vibrational magnetometer, describe the

method of comparison of magnetic moment of two magnets under the
following points :

(f)  Derivation of the formula
(i) Observation table
(iify Two precautions

arerar

OR
fas paFETd F weEd ¥ tan B ffa A fady fafy @ 9 oz gl
F TEH AN B qEN T F WG F g9 A ddwT & ia

ST : [143+1=5]
() =mifera fa= CGBOARDonline.com
(i) I S WA

(i) < grEawtEl

Describe the experiment to compare the magnetic moments of two bar
magnets, using deflection magnetometer by deflection method in tan B
position under the following heads :

(/) Labelled diagram
(if) Derivation of formula

(iif) Two precautions
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qu%-14 rﬂﬁﬁnwﬁaﬂmﬁm%ﬂmmmm | YR uifta 2 w7 W
it ¥ 7 [441=5)

Derive the expression for the capacitance of spherical capacitor. How
its capacitance can be increased?

CGBOARDonline.com 3’;’:’

g ¥ WG ¥ WEE@ A TH THW AR 3 e ¥ Fnv faga 83
F Jraaq &g e 7= feigsl 9 I Fifse—~

() = fag IoE F T,

un v fag d§7 F 3 w;

(i) & fag 967 F g8 W B [3+1+1=5)

Using Gauss’s law, derive the expression for electric field intensity due

to a uniformly charged solid cylinder at a point which hes—

(i) outside the cyclinder;
(if) inside the cylinder;

(iit) on the surface of the cylinder

w-15  @fes w202 dfers & ' o gifer ¥ 3wam @ A frm fasgal ¥

HUR W HIfAy . [1+143=5]
() ftag = amifea a3

(i Tagm w@ wrifafy

What is an oscillator? Explain the use of transistor as oscillator under
the following points :

(i) Labelled diagram of circuit

(it} Principle and working method

3rerar CGBOARDonline.com
OR
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Instruction : (F)
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sgat feewtt ¥ w9 § PN dfu T @ Ao fre el & 3iaia
e | 143+]=
() ufwy & Amifed o [ =

(i) wr-fafu
(i) Fa @ fola foa & 7w w9 & |9y

Describe the working of a P-N junction diode as a half-wave rectifier
under the following heads :

(/) Labelled diagram / circuit

(77 'Working method

(7if) Graph of input-output signal with time

: (B) WY9 HATS 16 TH 17 EHIT0T 999 o | TS W W

6 w HEfed T (@S W & fau s 1 Afusaw

WE-HT 250 V= ®) CGBOARDoumline.com

Question Nos. 16 and 17 are long answer type questions.
Each question carries 6 marks. (Maximum word limit for

each answer is 250 words)
CGBOARDonline.com

aTA-AE Frm w WeEa ¥ oW oeEE ¥ waE a9 ¥
Frw fFe fag W gmmi &9 @) daa ¥ =ivw e Fi) [6]
With the help of Biot-Savart law derive the expression for the intensity

of magnetic field at a point due to an infinitely long straight conductor
carrying current.

37eIaT CGBOARDonline.com
OR '

vforr 1 ufteeg fram fafge vd ot wemar @ uRaEt ufenfea &
FRO TG A FHI A HI AAh GG HITAC | [14+5=6]
Write Ampere’s circuital law and use it to derive the expression for
intensity of magnetic field due to a current-carrying solenoid.
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freifen fagsll & R W giewnR w1 avh wifag . [2+3+1=6)
() TR & ¥R @ Tmifea fax
(i) wd-fafy wd fagia
(iif) FE A I
Describe a transformer on the basis of the following points :
() Types and labelled diagram of transformer
(ii) Working method and principle
(ii) Any two applications

Hear
OR

yarEd u L-C-R Wfwg @ wuil frm fagsli & dWMR W
T [3+1+2=6]
() uftag = yfdema

(if) FER

(itf) AR A H T

Describe an a.c. L-C-R circuit on the basis of the following points :

() Impedance of circuit

(if) Phase difference

(iif) Expression for resonance frequency

L L L
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